$$\frac{\text{Integer Arithmetic}}{\text{Important Property A x in Z : ab = 0 \Rightarrow a=0 \text{ or } b=0}$$

$$\frac{\text{Cancellistion Law}}{\text{Ac} = bc = 3 a = b}$$

$$\frac{\text{Proof}}{\text{Ac} = bc = 3 a = -bc} = 2 a = b$$

$$\frac{\text{Proof}}{\text{Ac} = bc = 3 a = -bc} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 2 a = 0$$

$$\frac{\text{C} + 0}{\text{C} + 0} = 0$$

$$E_{.g.}$$
 $H(F(15,7) = 1, H(F(36,21) = 3$

Proprision Given a, b,
$$m \in \mathbb{Z}$$

 $m \mid a \ and \ m \mid b \ i \ m \mid H(F(a, b))$

Remainder Theorem I have evists
Given $n \in \mathbb{Z}, m \in \mathbb{N}, \exists I q, r \in \mathbb{Z}$ such that
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $q = qh + r$ called the remainder n
 $q = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n
 $n = qh + r$ called the remainder n called the remainder n
 $n = qh + r$ called the remainder n cand n called the remain

FTOA => Every
$$a \in Q$$
, $a \neq i$ can be written uniquely
in Form $a = \pm p_i p_2 - p_n$, p_i distinct primes,
 $\alpha_i \in \mathbb{Z} \setminus \{o\}$.

There are intivited many prime numbers. <u>Proof</u> Assume not and $\{p_1, \dots, p_n\}$ is a complete list of distinct primes.

Let
$$c = p_1 \cdots p_n + 1$$

 $\Rightarrow c \in N \text{ and } c \neq 1$
 $\Rightarrow A + ten perhaps reordening $p_1 \mid c$
 $\Rightarrow p_1 d = p_1 \cdots p_n + 1$ for some $d \in N$
 $\Rightarrow p_1 (d - p_2 \cdots p_n) = 1 \Rightarrow p_1 \mid 1$. Contradiction$

Modular Avithmetic
Fix
$$m \in N$$

Definition We say $a, b \in \mathbb{Z}$ are congruent
modulo m , if they have the same vernainder
modulo m , if they have the same vernainder
modulo m . We write $a \equiv b \mod m \iff m | (b-a))$
Vernanders are enique
Remainder dasses partition $\mathbb{Z} \implies congruence modulo m$ is
equivalence velation.

$$Z / m Z := Ephivalence dosses modulo m.$$

$$Z / m Z = \begin{cases} (03, (13, ..., (m-13)) \\ finite \end{cases}$$

$$\Rightarrow |Z/m Z| = m$$

$$finite$$

$$f(a+b] = [a'+b']$$

$$and$$

$$[ab] = [a'b']$$

$$(b] = (b'] \Rightarrow and$$

$$[ab] = [a'b']$$

$$Example m = 3, a = 4, a' = 7, b = 2, b' = -1$$

$$a+b = 6, a'+b' = 3 \text{ and } [c] = [23 = [c]$$

$$ab = 8, a'b' = -7 \text{ and } [c] = [23 = (-7]$$

$$Petinitian We define + and \times an Z/mZ$$

$$s follows$$

$$Given [a], [b] = Z/mZ, [a] + [b] := [a+b]$$

$$Tadependent of choice of equivalence dass representation by above fact.$$

$$\left(\mathbb{Z}/m\mathbb{Z}, +, \times\right) \text{ shaws many paperties with } (\mathbb{Z}, +, \times).$$

For example, [G] behaves like 0 and [I] behaves like 1.
There are important differences through,
• [I] + [I] + ... + [I] = [m] = [G]
• [I] + [I] + ... + [I] = [m] = [G]
• If m = ab , a, b \in N , a, b \in m (is a composite)
=> [G], (b] + [G] = [ab] = [G] = [G]
However [G] \times [b] = [ab] = [G] = [G]
Accu-zero terms can waltiply to
give zero.
• If $P \in N$ prime , $a \in \mathbb{Z}$
[G] \neq [G] \Leftrightarrow $p/a \Leftrightarrow$ $H(f(a, p) = 1)$
 \Leftrightarrow $\exists u, v \in \mathbb{Z}$ such that $ua + vp = 1$
 \Leftrightarrow $\exists cu e \mathbb{Z}/p\mathbb{Z}$ such that $[u] \times [G] = [Ci]$
 $Ue say [G] is a builtiplication
 $uiverse et [G].$
Conclusion : $p \in N$ prime \Rightarrow Every non-zero element of
 $\mathbb{Z}/p\mathbb{Z}$ has a multiplicative
 $ivverse.$
Not true $true tor$$